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|Ql. Examiner's Comment:

|
‘understood that the toughness of engineering alloys if governed by spacing of inclusions rather

‘than the presence of plasticity. Most could do the last part of the question, although some used

the Dugdale result from lectures rather than solving the different problem here.

'A popular and straightforward question, well-answered by most candidates. Surprisingly few |
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Q1. Examiner's Comment:
A popular and straightforward question, well-answered by most candidates. Surprisingly few
understood that the toughness of engineering alloys if governed by spacing of inclusions rather
than the presence of plasticity. Most could do the last part of the question, although some used
the Dugdale result from lectures rather than solving the different problem here.


Q2. Examiner's Comment:

A popular guestion. Most understood the basics of toughening mechanisms. Few were able to Cé,

do the fina! part of the question although it was relatively straightforward. k
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Q2. Examiner's Comment:
A popular question. Most understood the basics of toughening mechanisms. Few were able to
do the final part of the question although it was relatively straightforward.
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Q3. Examiner's Comment:

An unpopular question that probed understanding of various aspects of fatigue. A very wide
range in quality of answer was provided. It appears that several candidates did not attend the
lectures, as this material was emphasized during the course. Many answers were superficial
and did not address the questions being asked.
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' question. The physical basis of J and its relevance were well understood, but
d the HRR field. The non-linear beam calculation was understood in broad terms,
several candidates used the linear elastic beam bending formulae for a non-linear
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Q4. Examiner's Comment:
A popular question. The physical basis of J and its relevance were well understood, but
mentioned the HRR field. The non-linear beam calculation was understood in broad terms,
although several candidates used the linear elastic beam bending formulae for a non-linear
beam.
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